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' (X)) =—7— (6)
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iE ® Ax=Xx-Xy, Ay=y—yp, JUl
AX=@(YoAY)=@(Yy), Ay=F(Xg+AX)—F(X,).
B, f =@ 78 X, [RIFEARIR P % 4k B P A,

A&ﬁzﬁﬁ AX=0=Ay=0; AxX>0Ay—>0;

ERE ¢'(y,) =0, BEHHER

fix)= lim>Y__ 1 __ 1
7 axo0AX T lim éf__-¢KMﬁ |

Ay—>0AYy
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y=f(x) x=@(y) T'(Xy)=
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(i) arcsin x f1 arccos x ;

bbb

fild (i) y=arcsinx, xe (-1, 1)& x=sinyA

(—-m/2, n/2) R R RH, &

N 1 1 y
(arcsinx) = - = =
(siny)  COSy \/1—sin2 y
= . X e (-1,1).
V1-X°
[H#, (arccosx) =- = , Xe (-1, 1).

J1-x2
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(ii) arctan x F arccot x .
y=arctanx& x=tan y¥& (-n/2, n/2 ) E I R K ¥k,
1 1 1

(arctan x)’ = - = —— = :
(tany)’ sec’y 1l+tan®y
1

= , X € (—00,+00).

1+ X° ( )
F A
(arccot x)’ = — . X € (—00, + ).
1+ x° ’
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Wu=@(X) TER X, 8] F, y= f(U) FER Uy = 9(X,)
E‘l“%&, )ﬂﬂﬁé’@%ﬁ fO(D EE)}E’: XOE‘I“%&’ H

(fo@)'(X) = F'(Up)@' (%) = T'(@(X))@'(Xg) - (7)

BATHA R E A TRIEHX A E .

EEHIT BT A REEAR:
Ay=f'(x)Ax+a(Ax)Ax, lima(Ax)=0.

Ax—>0

HH, A3 Ax=0HRBILH.
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iE B f(u) ZA u, = @(X, )—I%" ﬁﬁ&iﬁ%/\ﬁ &
Ay = f'(u,)Au+a(Au) Au AIlleoa(Au)=O. (*)

HARS Au=0HERIL. X}'\‘u—(o(X)E:X "3,
lim Au = lim (@(X, +AX)—@(X;)) =0

AX—0 AX—0

JAXx =0 BREA () A B, B3
Ay _ f’(u0)£+a(Au)-£.
AX AX AX

-
=
ﬂﬂf

: A
lim A _ = lim f'(uo)&+oz(Au)-—u
Ax—>0 AX  Ax—0 AX AX

= T'(Uy)@'(Xy) = F(@(Xy))@'(Xy)
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FERANTHEAN dy dy du

dx du dx’
HH y=f(u),u=9(x), XHEMEZER “F” B
2T
g AEN T — e E X 4
F'(@(x))= 1'(U) |40 (x)

5 (@) =(fop) (x)= f'(p(x)e'(X)
AFEEIE

(fo@)'(Xg) = T'(Ug)@'(Xy) = f'(¢(xo))¢'(xo)- (7)
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